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Part 1 Financial Reporting, Planning, Performance, and Control &34, ki, SRz
Section C Performance Management S 3% B

Section C.3 Performance measures a3 % 1%

e". ROI = Income of business unit / Assets of business unit
BBt R AR = b 55 5T R ALY 55 5T B

g. Residual Income (RI) = Income of business unit — (Assets of business unit x required rate of return)
FlaUas (RD = M558 ociIANE - Q55 B ooy 587 X 2R 3O

Note: “Income” means operating income unless otherwise noted

TERE: BRARSI MU, A 2 8 LA

Part 2 Financial Decision Making 5% -5
Section A Financial Statement Analysis W %3k & 2 #r

Section A.1 Basic Financial Statement Analysis &4 553 & 207

a. Common size statement = line items on income statement and statement of cash flows presented as a
percent of sales; line items on balance sheet presented as a percent of total assets
[F) B 554 2 = AT SR AN e B b 0 & T A &5 A0 1 20 B AR
BEP AR & ILLE BT ) 20 B B AR

b. Common base year statements = (new line item amount /base year line item amount) x 100%
HLRIFEAFREE = CHrRgIH S48 E AT 200 H G480 X100%

c. Annual growth rate of line items = (new line item amount — old line item amount) / old line item

amount X 100%
WHEHEKR = GHIE &4 - IHIUE 40 1 IHRYDH 441 X100%

Section A.2 Financial Ratios i1 43 b %
Unless otherwise indicated, end of year data is used for balance sheet items; full year data is used for income

statement and statement of cash flow items.

BrAE AN, B R I E A AR A s R SR AL R I E 4 A A
Liquidity Jish#k:

a(1) Current ratio = current assets / current liabilities
BN = Wish Bt sl fufi
a(2) Quick ratio or acid test ratio = (cash + marketable securities + accounts receivable) /
current liabilities
A LR BRI AR = (A UHEZR+NOKFO ARsh T
a(3) Cash ratio = (cash + marketable securities) / current liabilities
ettt = Ae+EIIETR) s
a(4) Cash flow ratio = operating cash flow / current liabilities
WMERELR = 2B HIERE [ Rsh i

* Letter references refer to subtopics in Learning Outcome Statements
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a(5) Net working capital ratio = net working capital / total assets
IR A LR = A

Leverage #LFF

f(1) Degree of financial leverage = % change in net income / % change in EBIT, or
=EBIT/EBT

WA S5 ATATE 28 = A B AR o3 b 1 SRR RE 2230 o L,
B = SR A A A i A

f(2) Degree of operating leverage = % change in EBIT / % change in sales, or
= contribution margin / EBIT
LEFLAT 24 = BECRTANE AR S B 7 LA S R A28 H 7t
B = AbrTTER [ ST A

h.  Financial leverage ratio = assets / equity

S ATHAFEL R = B P2 L3S

i(1) Debt to equity ratio = total debt / equity
PR R LA = BT [ B

i(2) Long-term debt to equity ratio = (total debt — current liabilities) / equity
K G = (R — wshfifi) M

i(3) Debt to total assets ratio = total debt / total assets
PO R B PP EE R = BT R

J(1) Fixed charge coverage = earnings before fixed charges and taxes / fixed charges*
*fixed charges include interest, required principal repayment, and leases
[# 7 B F DR B b = FER ] 5E 2l AR Z 1 B A [ 5E 2
W E P EAEAE, FEEERARE, LU 3]

J(2) Interest coverage (times interest earned) = EBIT / interest expense
HMUEEATER (RUERIEMED = BBCRTAE/A]E 3%
j(3) Cash flow to fixed charges = (cash from operations + fixed charges + tax payments) / fixed charges.
Note: cash from operations is after-tax.
g B0 [ g S LR = (R B+ € 9% FH+RL 0O T 5E 2 H
R ZE MR eI .

Activity &30

I(1) Accounts receivable turnover = credit sales / average gross accounts receivables
7 WA 0 ) B 2 = DA L~ 25 R WA K At

I(2) Inventory turnover = cost of goods sold / average inventory
FEB R = B DA 47 DU

1(3) Accounts payable turnover = credit purchases / average accounts payable

LA I S g 23 = DR BT~ 2] IS AR Ik

m(1) Days sales in receivables = average accounts receivable / (credit sales / 365), or
= 365 / accounts receivable turnover

IS R o B R = PRI RSO R A (RRAA/365) , B 365 / BSR4
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m(2) Days sales in inventory = average inventory / (cost of sales / 365), or
= 365 / inventory turnover
BV E REL = PR B0 (BB RiA365) , B 365/17 b1 Ji e
m(3) Days purchases in payables = average payables / (purchase / 365), or
= 365 / payables turnover
AT A ROR B = P RAT A BREHE/365) , B 365/ WAt Kk J&] % 4%

n(1) Operating cycle = days sales in receivables + days sales in inventory
BV = RSO R B B + A7 B S R

n(2) Cash cycle = Operating cycle — days purchases in payables
Tt = B T — AR AR OR E

0(1) Total asset turnover = sales / average total assets
LB i A = AT A B

0(2) Fixed asset turnover = sales / average net plant, property and equipment
[t 7 B 7 S e 3 = AR P XY [ E B

Profitability kP g% /7

p(1) Gross profit margin percentage = gross profit / sales
BHF = BHHED
p(2) Operating profit margin percentage = operating income / sales
BN AR = BV A S A
p(3) Net profit margin percentage = net income / sales
A = R S A
p(4) EBITDA margin = EBITDA / sales
BT IH PSRRI 2 = SRLHT IH A MEH R A 5 A0

g(1) ROA = net income / average total assets
B IR = R AP R

g(2) ROE = net income / average equity
RES PR F = AE A SR RS

Market T3

r(1) Market-to-book ratio = current stock price / book value per share
T2 = R O I T A E

r(2) Price earnings ratio = market price per share / EPS
WELA = BFTRE Aol

S.  Book value per share = (total stockholders’ equity — preferred equity) /
number of common shares outstanding
FERKEOME = CRBARBGER- T SEBAD E E Biis H

u(1) Basic EPS = (net income — preferred dividends) / weighted average common shares outstanding
ARG = GRANE — PESRBRA]D 1IN Y i 28 A1 )35 1 15 2
(Number of shares outstanding is weighted by the number of months shares are outstanding)
C AL SN I8 e 75 AR Y B AL A1 5 H A Btk AT i O
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u(2) Diluted EPS = (net income — preferred dividends) / diluted weighted average common shares
outstanding
MiRE SRR s = (R ARIE — DLSR R TR JS RIS - 25 3t 3 £ A1 14 3 e
(Diluted EPS adjusts common shares by adding shares that may be issued for convertible securities
and options)
(Wi B i A B i ot 75 U Bl I B i, % D S R AT R 4 o AT 14 A 1) 36 e

&)

v(1) Earnings yield = EPS / current market price per common share
W ai 2 = MRS a4 i 0 I B I T A

v(2) Dividend yield = annual dividends per share / market price per share
AR FR = BB R i T A

v(3) Dividend payout ratio = common dividend / earnings available to common shareholders
JEER S AT 28 = <2 s S )T e St i 2R 0T ) Rl

v(4) Shareholder return = (ending stock price — beginning stock price + annual dividends per share) /
beginning stock price
AR R = GURBCEE I - B RO A% + RECERAD IR A%

Section A.3 Profitability Analysis 3XF§g J743 47

a(1) ROA = Net profit margin x total asset turnover; (net income / sales) x (sales / average total assets)
= net income / average total assets
PO ERR = HRNE R« BB, GFRNEAERD X GEEHAPY R %)
= {RNE A3 S B

b(2) ROE = ROA x financial leverage; (net income / average total assets) x (average total assets /
average equity )= net income / average equity
PR R AR = BT R X WAL GRATEPF 5 ) X CPRER B PP D
= {FRNE PR R

g(1) Operating profit margin percentage = operating income / sales
iz MEZ = EMANE A AT

g(2) Net profit margin percentage = net income / sales
FANE 2 = R B A

J-  Sustainable growth rate = (1- dividend payout ratio) x ROE
AIRFEEIK R = (LRI ) X BLak [k 3

Section B Corporate Finance /A &) 4%

Section B.4 Working capital management Eiz ¥ A& #

b.  Net working capital = current assets — current liabilities
FEIZEA = Wsh B — sl

Section C Decision Analysis HJ5& %7

Section C.1 Cost/volume/profit analysis 2~&F] 5
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f(1) Breakeven point in units = fixed costs / unit contribution margin
ERERA S = [ € 2 AL b ok

f(2) Breakeven point in dollars = fixed costs / (unit contribution margin / selling price)
B S EURA S = [ E T (AL Rr o/ S

i(1) Margin of safety = planned sales — breakeven sales
AR = HRIEER - RASHEE

iI(2) Margin of safety ratio = margin of safety / planned sales
RN FR = 2R RIE S E

Section C.3 Pricing 4%

n.  Elasticity is calculated using the midpoint formula. For price elasticity of demand
E = [change in quantity / (average of quantities)] / [change in price / (average of prices)]
SAPE R A R A RCRTHE . T 7 SRS s E
= [ R IR R T SR AAL G P 7 SR & 1 [rks 2L M A AR AT B~ 24 4% ]
= TR BB 73 LN A% A2 B0 (1) 43 b

Section E. Capital Investment Decisions ¥ A~ $ ¥ 55

Section E.2 Capital investment analysis methods ¥ 433 7347 i

f.  Profitability index = PV of future cash flow / Initial investment
BATEHL = ARIL B IUE WA 1 R
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